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KNEUS PART 1
SCHOLASTIC APTITUDE TEST
(KSAT)
G KEY
%31 c©c231 cCJ32 ch5a
1 cAa cBa cCzx cDa cEa=
2 cAa cBa cCa cDa cE=
3 cAx B2 cCzx cD2 cEx
4 cAx cBa cCa cDa cEz
5 cAx Bz cCzx cD2 cEa
6 cAxd cBzx cCzx cD2 cEa
7 cA3x B3 cCzx cD2 cEa
8 cAx Bz cCzx cD2x cEa
9 cAa Bz c£Ca cDzx cEax
10 cAzx B2 £Cz ctDa2 cE=x
11 cAz Bz c©Cz ctDa2 cE= . o o
12 cAx B2 c£Ca ctDa2 cEa E :‘25 i
13 cAza B2 £Ca ctDa2 cEa 5 gﬁ E 8
14 cAx B2 c£Ca cDa2 cEa r: ﬁ:% § g
15 cAa B2 c£Ca ctDa2 cEa E E E :
16 cAx2 cBax cCa cDzx cE2x E E 5 E
17 cAz2 cB2 c£Ca cDa2 cEa I %
18 cAx ctBax cCa ctDzx cE2x § F
19 cAx cBa cCa cDzx cE2x "E'
(20 A3 cB3 £C3 cD3 cE3
21 ctAx cBa cCa2 cDa cEaz
:§ E::I E::I Egj Egj EE: CU)J p g §\
cAd cBa cC2x cDa cEa
24 cAx cBx cCzx cD2 cEax g g II: ﬁ
25 cAa cBx cCzx cD2 cEa IQ @ g
26 tA>x cBax cC2 cDa cE= (@] '
27 tA> cBa cC2 cDa cE= 8
28 tAx ctBa cC2 cDa cE= m
29 tAx cBa cC2 cDa cE=
30 ctAx cBa cC2 cDa2 cE=
(31 cAJ cB3 cC2 ctDa cE=x 2]
32 cAx B2z c©Ca cD2 cE=X g
33 cAa B2 c©Ca cD2 cE=x 6'
34 cAa cBa cCa cDa cEzx =z
35 cAa cBx cCzx cD2x cEax
36 cAx cBx cCzx cD2 cEax
37 cAa cBx cCzx cD2 cEa
38 cAx cBx cCzx cD2x cEax
39 cAa cBx cCzx cD2 cEax \ j
L40 cAd B2 cCzx cDzx cEzx
41 cAa cB2x cCzx cD2x cEa
42 ctA> cBa cC2 cDa cE= (6' ; ;
43 cA> cBa cC2 cDa cE= ; Igl'l) GI'Iz -
44 cA> cBa cC2 cDa cE= - ~ - ‘T‘
45 cA> cBa cC2 cDa cE= ;
46 A3 cB3x cCa cDa cEx cﬂ;
47 cA3x cB3 cCa cDa3 cEx (@)
48 cA3x cB3zx c©Cz cD2 cE=x g
49 cA3x cB32x c©Cz cD2 cE=
B0 tAz ctB2 cCz cD2 cE= \_
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C%31 C£C231 C371 w==m ChH2
51 cAa cBa cCa cDa cEa
52 cAa ctBax cCa cDa cEa
53 cAad Bz cCax cDax cEa
54 cAad cBax cCzx cDax cEa
55 cAad B2 cCax cD2 cEa
56 cAad cBx cCzx cD2 cEa
57 tAa B2 cCzx cD2 cEa
58 cAad cBx cCax cD2 cEa
59 cAad B2 cCax cD2 cEa
60 cAd cBx cCax cD2 cEa
761 cAd cBax cCax cDax cEax
62 cAd cB2x cCax cD2 cEa
63 cAa cBax cC2 cDa2 cE=
64 cAa cBax cCa cDa cEa
65 cAa cBa cCa ctDa cEa
66 cAa cBax cCa cDa cEa
67 cAa cBax cCa cDa cEa
68 —cAa cBax cCa cDa cEa
69 cAd cBx cCzx cD2 cEa
‘70 cAd cBx cCzx cDzx cEa
71 cAa cBa cCa cDa cEa
72 cAa cBa cCa cDa cEa
73 cAad cBax cCax cD2 cEa
74 cAa cBa cCa cDa cEa
75 cAa cBax cC2 cDa cEa
76 cA3d cB2x cCax cD2 cEa
77 cAa B2 cC2 cDa cEa
78 ctAad cB2x cCax cD2 cEa
79 cAa cBax cC2 cDa cEa
80 cAx B2 cC2 ctDa cE=2
’81 CAJd cB2x cC2 cD2x cE2
82 tAx ctBax cC2 ctDa cE=2
83 tAx B2 cC2 cDa cEzx
84 cAx cBax cC2 ctDa cE=2
85 ctAa cBx cCax cD2 cEa
86 tAax cBx c£Ca3 cD2 cEa
87 tAa ctBax cCax cD2 cEa
88 tAa ctBax cCa cDa2 cEa
89 cAad cBx cCax cD2x cEa
\90 cAd cB2x cCax cD2x cEa
91 cAa cB2x cCzx cD2 cEa
92 cAad cB2x cCzx cD2 cEa
93 cAd cB2x cC1 cD2 cEa
94 cA3d cB21 cCa1 cD2 cEa
95 tAx B2 cC2 cDa cE=2
96 ctAx B2 cC2 cDa cE=2
97 cAa B2 cC2 cDa cE=2
98 -tAx B2 cC2 cDa cE=2
99 cAax B2 cC2 cDa cEa
100 cAa B2 cCa ctD2 cEa
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